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4325-B

M.A. (Previous) Examination, 2015

ECONOMICS
Paper-V B
(Mathematical Economics)

Time : Three Hours
Maximum Marks : 100

PART-A (@ve-3) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.

Tft 7T wW e ¥ vEw Y F IR 50 TR
Q afuw 7 B Ol T ® ofw wEe

PART-B (@ve-9) [Marks : 50
Answer five questions (250 words each). Selecting
one question from each unit. All questions carry equal marks.

TOF TR ¥ TH-UH W I gC, HA Ui
I3 HINT TAF 99 HT SW 250 v=f ¥ ferwm 7 7
ot v B ofF TEm
PART-C (@vs-9) [Marks : 30

Answer any two questions (300 words each).
All questions carry equal marks.
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(iii)

@iv)

V)

PART-A
(@gus-=3T)

UNIT-I

(wE-1)

What do you mean by Marginal rate of commodity
substitution. Express it mathematically.

T Wi ® S S @ o whEd 87 39
ot ¥q H§ fafaw

What is the formula for calculating cross elasticity of
demand ?

T et fet A 9@ FW wOGH 72

UNIT-II

(gwE-11)

Explain non-homogeneous production function with
example.
FENEY IAEH HEA H I |ed T Hifo

If a production function of a commodity is given by
3

Q = 40F + 3F* - f3—, find Marginal Production.

Ify IR weR UH wg W fm ™ R,
3
Q = 40F + 3P - % @ F= SR A R

UNIT-II1
(FaTE-II1 )

What is the condition of equilibrium for a monopolist
who practices price discrimination?
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Foa A ET 70 9 TEREN @ fau e wt
vd FM 2?

(vi) What do you mean by bilateral monopoly ?

Tyl THIUER ¥ o9 T WHIR R?

UNIT-1V

(FFTE-1V )
(vii) What is accelerator ?
E 82

(viii) What do you mean by induced investment ?

I fRw | =0 O 22

UNIT-V
(FFE-V)

(ix) What is technological coefficient in Input Output
table?
aa-frfe afees & Tl ToTE F R2

(x) What is saddle point ?

I fag 7 &2

PART-B
(T ue-«)

UNIT-I

(FTE-1)

2. Find the optimum commodity on purchase for a consumer
whose utility function and budget constraints are u = g2 ¢3
and g, + 4q, = 10 respectively.
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T SUNHT ® STHTTH IR FI P IW HIGC FE
3IFHT IYAAT HOR qU SO gaEd € HE:
u=gqi g Mq, +4q, = 10.

OR

(31

3. Explain how the utility index is constructed under N-M
Theorem.

N-M ¥ & 3wl ST o ®I MO S8
It &2 TR Hfw

UNIT-11
(gE-11)

4. Determine the conditions for leastcost combination of a firm
using two factors of production whose prices are given.

A T 99 w® v fuife #ife w v w fag
T SOURE B D WA F TET Fw: § e w e T
F

OR

(31eEn)

5. If a production function is :
’ Q =5LK - 2L2- 2K? then
(i) Find out the Marginal Product of Labour & Marginal
Product of Capitals. (ii) Which type of returns this
production function depicts ?
If TH IO HeH € Q= SLK - 2L7- 2K’ W
() o @ IS H HER SEEEA q6 i)

(ii) 9% SERA FO FY TR B WREA TWH FE }?
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UNIT-1II

(FFE-1I1)

Explain the Marshallian and Walrasian equilibrium
conditions.

YA q IoRE H A I W Hifea)

OR
(r%E)

If a perfect competitive firms has total cost function

2 ) .
TC = 30 + 15x — 5x% + = x° and its total revenue functions

is TR = 14x where x is ouput then find out — (i) MC and
MR.

(i1) output which maximies the profit.
It e ol yfEf aelt w6 o e e wem TC =
30+ 155 —5x% + 243 ¥ T SHE HE AW wed ¥

TR = 14x T x IOfq & 950 ¢ @ F@ FMT (F) MC
Iaq MR

(@) IOfT F A= S A Afumam Ry

UNIT-1V

(F@R-1V)
Explain the Harrod growth model.
Tz & iy dem = = TR

OR
(3tea)
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10.

11.

Explain the growth model of solow.

e # g " ® W Hifsa

UNIT-V

(FFE-V )

Explain the technological coefficient Matrix and Hawkins
simon conditions for input output analysis.

sra-fria favemo = faw awAreRl TOTE SR A
Bifrg 9EHA I TR Hifu)

OR
(eeE)

Solve the following game where A is player A's pay off

1 7 2
matrix A=|6 2 7. In Row's strategy of A is shown
5 1 6

and column shows strategies of B player.

e T w1 qEYR HINT we A, faeet A # PEE

e} A= A # TEifel ofwl § 9 B

W N =
—_ N
N NN

# WA e B oA W R
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13.

14.

PART-C
(@ue-4)

UNIT-1

(FwTE-1)

Derive the slutsky demand equation of a consumer with a
two commodity fixed income budget.

T& SIS ® WIS AN TEHE S e RN,
o & o fer o9 w9 2

UNIT-1I

(T®E-11)

Explain the Cobb-Douglas production Function and its
properties.

FfE TG SARA FOF a9 IHHT favivael W TR
wHifeq|

UNIT-II1
(FeTé-101)

Under discriminating monopoly the demand curve of a
monopolist is made up of two parts.

p, =80 -5q,

p, = 180 - 20q,

and his total cost curve is given C = 50 + 20g where
(@=q, +q)

Assuming that firm maximises profit, determine the prices
it will set in the two markets.
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16.

faddiga THIMeR & T THIMER & B/ g% ® Qo9
g
p, =80 -5g, T p, =180 — 20g, A STH! FA AT =
fam &, C =50 +20g ST (g=gq, +¢,)! T& 9 g %
w9 sfman e €, Fd freife wiee ShowT
T SR W TgE wOm

UNIT-1V

(3EE-1V )

Explain the multiplier Accelerator interaction model of
Samuelson.

YR & TUTSh-TRE WER SFAHal Hed ®l T Hifeg|

UNIT-V

(FFTE-V )

Solve the following problem by simplex method
Maximize z = 45x, + 55x,
subject to 6x, + 3x, < 120

4x, + 10x, < 180

x20,x,20

e guen F1 oA e fafa g st
e FIWT z = 45x, + 55z,
9 6x, + 3x, < 120

4x, + 10x, < 180

x20,x,20
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